| Efficiency vs Dxy |

P

S dx

efficiency v

Ratio

0.5

=
© >
N O

0.35

o
[

0.25
0.2
0.15
0.1
0.05

........................................................................

........................................................................

1.

0.95

e

bt

S ET50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_TT__mkFit_ORIG

[ Efficiency vs Dz | |—s— DQM_TT__mkFit_MODIF

dz

0
>

ciency

q=

ef

0.5
0.45
0.4
0.35
0.3
0.25
0.2

.....................................................................

|||.|||f'illllillllil“lllllll

Y

. 4l |F B “lr .
--------- FEERRRRRY * S0 - PP
: ¢ * B *|: N
: Tt : L4 :
N L 4 . b N

30 20 -10 0 10 20 30

TP dz (cm)

—— /data2/legianni/newRel-PR129/sta/CMSSW_13_2_0_pre3/src/DQM_TT__ORIG



	Contents
	Page 1


